Practice Problems S3

P1. Evaluate the following limits if they exit or are infinity (if
not explain why).

1. lim v4z?+x — vdz? — x;
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2. lim (—22° + 32* + z + 10);
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3. lim (3:5 — 2z 4 7);
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10. See recommended problems.

P2. Find the limits (if they exist) at the breakpoints of
i < —2
flz)=¢ 2°-5, —-2<zx<3

vz+13, = > 3.

P3. For which values of k is the following function continuous

at x=-3: )
8—xz°, ©>=-—-3
f(i)_{-"%, T < —3 '
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P4. Find an interval of length
(a) 1,
(b) 5
which contains a root of the equation 23 + 4z — 7 = 0.

P5. Prove that the equation a® — 15z + 1 = 0 has at least two
roots in the interval [0, 4].
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